S
/ Physics 100 (Stapleton) . A /L/ A/ /Vﬁ 74

Name Ve
Newton’s 1% and 2™ Laws ' / 7 Z AE
N et e ——— ﬁn—.ﬁ_ |
Newton’s 1" Law: /‘%JWWQV¢ o C'&-MS?"&M A \1
{ B \
\ : \/P /a:_: 7[:/\\"‘ - ff_e%v'-‘{’@”lrd

/)g_-/‘ oree. @éa/m‘;e% fﬁb:&x

If the forces actmg oﬁ”B] ect are balanced (nonet feree)—what -might that object be doing? Whatare™
the opncms?/
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What are the options for v\_rhaLan object might be dgmg If the forces on the object are not balanced (i.e.
there is a net fo JEe)”'
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Newton's 1st Law is callcd the "Law of Tiéftia." Tiériia i 1s .
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What objects of things have the most inertia? Give some examples.
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The basic metric unit of force is the IM Its abbreviation is Z@ » IS
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Each of the pictures on the .
right shows one or more S -
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force vectors. A\ Foreé

A) Look at the pictures and
decide if the forces are
balanced or unbalanced.
Label them appropriately.

B) Look at each of the by
pictures and determine the :
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The ball in picture C is 1 N
rolling down a hill. What

does the net force tell you ﬂ/
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about the ball's motion?
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The ball in picture B is
falling from the sky. What
does the net force tell you about the ball's motion?
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The ball and hand in picture D are just beginning to move. What does the net force tell you about

their motion? /454 c 4{.‘- hf) R /(-

The car in picture E is driving to the left. What does the net force tell you about the car's motion?
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The box in picture G is sliding down a hill. What does the net force tell you about the box's
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The ball in picture F is falling from the sky. What does the net force tell you about the ball's

motion?
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Newton's 2nd Law: /:A; /mﬁ_-z
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Metric%} Unit for Mass = gh /y = “%which is abbreviated /é%‘

A 1kg masigf:e;igﬁllout / 0 Newtons or about Z+ 2 pounds.
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Calculating forces using Newton's 2nd law:
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A 2kg)zﬁass accelerates at a rat@mfs?s) What net force caused this acceleration?
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An unbalanced force was applied to a 7kg ol_')ic&. The object accelerated at a rate of 8m/s/s. )What
was the magnitude of the unbalanced-force? ’ '
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ﬁ{{éﬁg‘,\bowlmg ball is dropped from an airplane. Gravity causes the bowling ball to accelerate at a
raté of = /@~ /2%, What is the weight of the bowling ball? In other words, what force of
gravity acts on the bowling ball?



Gravity causes a force even when an object is sitting still. If we know how fast gravity would accelerate
the object if gravity were not balanced by any other force, then we can figure out the force of gravity
acting on an object. This is the weight of the object.
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What is the weight of a 30kg child who is
standing on the Earth?

What is the weight of the same 30kg child, if
that child is standing on Mars?

Fill in all of the missing forces in the two diagrams

below. ZM )
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Acceleration Due to Gravity Comp_ari;bh"
Bo dy- Accelf-:-lgiiog Due |
to Gravity, "g" [m/s?]
Sun 27413
Mercury 359
Venus | 887
Earth | 981
Moon ' 162
. Mars 377
] JupiEr_ _ 25.95 a
] Saturn - 11.08
[_Uranus o 1067
|r Neptune 14.07
:' Pluto " - 042
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